%K TS0 E
®KAB 483H 5878 6RH4d 7TH3H8 8818 o838 10818 11818 12838 18784 2RH4H8 3RB4H8 R =IE 13
KEE B i
K B (T 10.1 14.4 182 216 223 183 16.3 11.2 6.6 43 4.8 58 223 43 12.8
— A% i (@/mL) o) 0 0 0 o) o) o) 0 0 0 0 0 0
AN = AR N hin AR NG NG AR AR AR AR NG AR Nt AR
ARIODARUVOZDOIE W meg/L)| <OO003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003| <00003 <00003 <00003| <0.0003
KR R U Z2 0 &t & %W (meg/L) < 000005 < 000005 < 000005 < 000005 |< 0.00005
T L Y RO Z OIS ®Wmg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001l <0001 <0001 <0001| <0001
W R U ZF O 1t & W (meg/L| <0001 <0001 <0001 <0001/ <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
E 52 % U 2 ® 16 & %W meg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
AN i o2 O A 6t & ™ (mg/L| <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005/ <0005
=3 B8 74 A5 = =% (mg/L| <0004 <0004, <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004
P IEMA A Y RVEBIEY P Y (mg/L) <0001 <0001 <0001 <0001| <0001
WREEZERVUEMBMBAEZ R (mg/L 015 0.20 0.16 0.19 0.21 0.23 027 023 0.09 0.13 0.11 0.10 027 0.09 017
D v m RV Z OIS M me/L <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005
m D xR KRV Z OIS M me/L 004 007 0.05 0.07 0.10 0.03 0.04 0.10 0.13 0.08 0.10 0.09 0.13 003 0.08
Iy 18 1t Y % (mg/L) | <00002 <00002| <00002| <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <0.0002| <0.0002
1, 4 — Y A F Y ¥ (meg/l| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
i%\_;\’_ %—égmgég;;/&zj (mg/L)| <0001 <0001 <0001/ <0001| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
Yy O O X 4 Y (meg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
S 52 00IFLU Y mg/l| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
~ U 2 OoOo I F UL Y (mg/l| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
N > o Y (mg/L)| <0001 <0001 <0001| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
17 ES B (mg/L) <005 0.06 007 007 008 0.10 005 <005 0.05 <005 <005 <005 0.10 <005 <005
K5 O 0 i3 B (mg/L)| <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002| <0002
- 2 O O 7 U I (mg/L) 0.004 0.009 0013 0.011 0.010 0010 0.006 0.002 0.003 0003 0.001 0.003 0013 0.001 0.006
> 2 O 0 i3 B (mg/L) 0.005 0.008 0.010 0013 0.007 0.004 0.004 0.002 0.004 0.004 0.004 0.004 0013 0.002 0.006
EY J O T2 00X% v mel 0.001 0.002 0.001 0.002 0004  <0.001 0.002 0.002 0.002 0001 <0001 0.001 0004  <0.001 0.002
£ ES ® (mg/L) <0001 <0001 < 0001 <0001| <0001
Fa U N O X & Y (me/L) 0.008 0016 0.020 0.020 0.023 0013 0012 0.007 0.008 0.007 0002 0.007 0023 0.002 0012
s~ Y 2 0O 0O B B meU 0.004 0.006 0.009 0.011 0.005 0.004 0004 <0005 0.003 0.003 0.003 0.003 0011 <0005 <0005
SO EY S OOXS Y (me/L) 0.003 0.005 0.006 0.007 0.009 0.003 0.004 0.003 0.003 0003 0.001 0.003 0.009 0.001 0.004
Elw O T 7 U A (mg/L)| <0001 <0001 <0001/ <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
™ W A P L F B R (mg/L 0.001 <0.001 < 0.001 <0001 0001 <0001 <0001
R U Z 0 & W me/l) <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002
PILXTZOARUOZ0DIEE W (me/L) 002 0.02 004 0.05 0.05 0.02 0.02 003 0.02 0.02 0.02 0.03 0.05 0.02 0.03
% R U 2 @ {t & M (mg/L) <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002
W R U 2 o bt & W (mg/L <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002
TERUDARUZOIE D (me/L) 72 95 90 100 11.1 73 78 103 12.1 10.3 120 10.0 12.1 72 o7
NYHYRUOZOISED mMmg/L| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
15 1t i) « ) Y (mg/L) 11.4 14.8 129 139 16.2 11.1 115 155 176 16.2 176 155 176 11.1 145
ANYDI A, RTRYDAZ(BE) (meg/L) 316 36.4 340 36.7 409 332 358 394 428 418 389 324 428 316 370
Ead 75 5% =2 " (me/L) 88 96 o2 96 101 83 78 100 110 87 102 90 110 78 94
= 4 7 v KR @ & % A& (ng/L) <0.02 <002 <002 <002 <002
Y, T 7 2 = > (ue/L) 0.001 0.002 0.001 0.002 0.002 0.002 0002 <0001 <0001 0.001 0.002 0.002 0002  <0.001 0.001
2 —XF IV AYRILERA =) (ug/L]| <0001 <0001 <0001, <0001 <0001 0.001 0002 <0001 <0001 <0001 <0001 <0001 0002 <0001 <0001
¥ 4 F v R @ F H A (mg/L <0005 <0005 <0005 <0005| <0005
2 T J — U 8 (mg/L) < 0.0005 <0.0005 < 0.0005 <0.0005| <0.0005
E#m(=BH®xHTOC &) (me/L) 05 0.7 0.8 09 0.8 0.7 08 05 06 0.7 0.7 06 09 05 0.7
P H & 77 76 78 76 77 77 76 76 77 77 76 76 78 76 77
173 (f2%8) E8RLU E8EL EBRL EBRL EBRL EBRL E8RL E813L £8B2L E8BZL EBZL EBkU
£ S (@58 | 2zl B%EL B®EEL EBEEL 222U BEEL B¥EEL EBEEL 283U BEGL BEEL EBEL
=} E (B <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B E (B <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <0.1
PYFEIYRUOVZODOIASED mg/L| <O0005 <00005 <00005 <00005 <00005 <00005 <00005 <0.0005 <00005 <00005 <00005 <0.0005| <0.0005
DS YRV Z OIS M mMme/L| <O0001T <O0001 <00001 <00001 <00001 <00001 <00001 <00001 <00001| <00001| <00001 <00001| <0.0001
Z vy T WL RO ZOISE W mMmg/L| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001/ <0001 <0001 <0001| <0001
1, 2 — Y2 00I2F Y mgl| <0002 <00002 <00002 <00002| <00002 <00002 <00002 <00002 <00002 <0.0002 <00002 <0.0002| <00002
x ~ U T Y (mg/L)| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
Hooumy (2—TFLAEYIL) (me/L) <0005 <0005 <0005
Cm 5 = B (me/L) <005 <005 <005
2 i 1t i = (mg/L) <005 <005 <005
By 2O00P?P€bkZ kU Mmegl 0.001 <0.001 < 0.001 <0001 0001 <0001 <0001
Ef X o O 3 — ) (mg/L 0.002 <0001 < 0001 <0001 0002 <0001 <0001
Sk = 58 0 0 0.03 0 0.03 0 0.01
| =2 15 % (mg/L) 072 0.90 0.85 0.85 0.89 0.84 0.82 0.81 0.86 0.76 0.75 0.78 0.90 072 0.82
15 i vy B (me/L) 1.1 09 1.1 09 1.0
5 1, 1, 1 —hFU2O0O0IFY (meg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
XFI—t —TFII—FI mg/LU| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
BERERME (SYHT U PIEHR) -16 -15 -1.3 -1.4 -09 -14 -15 -15 -14 -1.4 -16 -17 -09 -17 -14
e B N = # (1&/mL) 0 @)
1, 1 —Y200IFL Y MeL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
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REBCZORBEZBERFETHRL, ZN5 CARUEEREINT ZHIULCE (REORBENESE N REZTE>EHESIE 0 £9D. )




